HI/NER - P FR-TILEFFRAERER

(BfL: 4 Sv.h)

. - 50cm
No| BIER |#iX%£ M % T =T A =
1 REINER 0.06 - 0.07 -
2 HIREFER 0.06 - - -
3 5 AENE/NER 0.07 - 0.07 0.07
4l 4BA1B | & |BER 0.06 - 0.07 -
5 ﬂlzi’ HFEREH 0.07 - - -
6 BIL/PNERR 0.07 - 0.06 -
7 o B NERR 0.07 - - -
8| 4B12H BIRINERR 0.06 0.06 0.06 -
9] 4H68 | M |KANER 0.06 - 0.07 0.07
10| 48138 | Am [AIFERPFER 0.05 - - 0.06
1 YRR ER 0.07 - - -
12 sa58 | st BUR/INERR 0.07 - 0.07 0.08
13 KIFINERR 0.08 - - -
14 TN FERR 0.10 - - -
== =n 50cm

No| BIFER |[#X%£ % B LT W E = I
1 BEINER 0.06 - 0.07 -
2 iR e F R 0.07 - - -
3 5 KENEDFRR 0.06 - 0.06 -
4| 4A20B | % |F/NER 0.06 - 0.07 -
5 ilizﬂ HFE R 0.07 - - -
6 BI/NERR 0.08 - 0.06 -
7 th BN 0.07 - - -
8| 48218 IR INERR 0.07 - 0.06 -
9| 4F198 | R | KANEK 0.07 - 0.07 0.08
10| 482508 | A[m [AIRIRFFER 0.05 - - 0.06
11 YRR R 0.07 - - -
12 sR18E | 45 BURINERR 0.07 - 0.08 0.09
13 KRN 0.08 - - -
14 TN 0.10 - -
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